
Cam Units DHC
Schieber DHC
Unità a Camme DHC

INDEX



931

Ca
m

 U
ni

ts
 D

H
C

TECHNICAL NOTES

OMCR
CODE

Work Angle Slider Width
(mm)

Closed Cam Height
(mm)

Work Area  
W x H
(mm)

Max Work 
Force with 
shoulder

106 cycles (kN)

Extraction Force
(kN) Page 

numberEf

β Fs Spring Gas Spring

DHC052 0° 52 140 52x65 38 0,62÷0,65 - 932

DHC065 0÷20° 65
160 (00.40÷05.45 / 
10.45) 170 (05.70 / 

10.70÷20.70)
65x70 44÷48 0,78÷1,02 - 936

DHC100 0÷20° 100 200 100x100 75÷82 - 4,6÷6,1 940

DHC150 0÷20° 150
220 (00.40÷15.45 / 
20.45) 230 (15.70 / 

20.70)
150x100 120÷127 - 4,6÷6,6 944

DHC200 0° 200 240 200x110 176 - 8,6÷10,1 948

DHC250 0° 250 270 250x130 232 - 8,6÷9,4 952

DHC300 0° 300 270 300x130 272 - 8,6÷9,4 956

DHC400 0° 400 250 400x150 480 - 25,2 960

INDEX

Optimized logistics for top service



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

932

P.682

INDEX

DHC052 

OMCR CODE
Work 
Angle

Stroke
(mm)

Overall Dimensions
(mm)

β S A B C D E F G

DHC052.00.25 0° 25 120 120 80 70 40 40 80

DHC052.00.40 0° 40 135 135 95 80 50 45 90

DHC052.00.60 0° 60 180 180 140 55 70 55 110

OMCR CODE
Work 
Angle

Stroke
(mm)

Max
Work Force

with shoulder
(kN)

Extraction
Force
(kN)

Ef

β S Fs Spring

DHC052.00.25 0° 25 38 0,62

DHC052.00.40 0° 40 38 0,63

DHC052.00.60 0° 60 38 0,65

ORDER Art. Work Angle = 0° Stroke = 40 OPTION K

DHC052 00 40 K

WEBWEB WEB

Fs

EfS

With Key - OPTION K

C14.25.2538090
Seite 88, page 88, pagina 88

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC052.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2FDHC052
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2FDHC052


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

933

Ca
m

 U
ni

ts
 D

H
C

DHC052 

INDEX

  SEAT 25 H7  

  1
40

  

  1
00

  

  7
5 

 
  1

0 
 

  A  

0.02÷0.04*

  1
2 

 

  3
8 

 

  6
5 

 

  52  

  9
8 

 

  8
0 

 

  8
0 

  

  C    30  

  B  

  18  

  9 (4x)  

  10  

  D  
±0,05   8 H7 (2x)   

  8
0 

 

  8
0 

 

  9
8 

 

  G  

  F  

  E  
  8 H7 (2x)    20  

9 (4x)  

  5
0 

 

  9
0 

 

  12,5  

±0
,0

2
±0

,0
2

±0,05

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*

  
11 (2x)  

C14.25.2538090**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

CAM DIAGRAM

P
re
ss

S
tr
o
ke

Spring Stroke / S

  β  

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Spring
Stroke
(mm)

β α S Ps Ss

0° 45° 25 25 25

0° 45° 40 40 40

0° 45° 60 60 60

X VIEW

X

Ss

WEB

12

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC052.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

934

DHC052 

INDEX

5

10

6

7

9

2 14

8

1

11

4

3 13

15
OPTION K

12



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

935

Ca
m

 U
ni

ts
 D

H
C

DHC052 

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

INDEX

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 1

7 Wear Plate CK45 1

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Spring Guide Pin CK45 2

11 Spring - 2

12 Key (C14.25.2538090)  - OPTION K CK45 1

13 Cam Base Fixing Screws M8x50 DIN 912 - 4

14 Cam Driver Fixing Screws M8x30 DIN 912 - 4

15 Key Fixing Screws M10x40 DIN 912 - 2

Cam Base

Positive Return

Side Plate

Cam Slider

Wear Plate

Wear Plate

Cam Driver

  1  

  0.01÷0.03  

  0.005÷0.015  



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

936

DHC065

P.682

INDEX

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force
with shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Spring

DHC065.00.40 0° 40 44 0,79

DHC065.00.60 0° 60 44 0,80

DHC065.05.45 5° 45 48 0,78

DHC065.05.70 5° 70 48 1,02

DHC065.10.45 10° 45 48 0,78

DHC065.10.70 10° 70 48 1,02

DHC065.15.45 15° 45 48 0,78

DHC065.15.70 15° 70 48 1,02

DHC065.20.45 20° 45 48 0,78

DHC065.20.70 20° 70 48 1,02

OMCR CODE
Work 
Angle

Stroke
(mm)

Overall Dimensions
(mm)

β S A B C D E F G H I J K L M N

DHC065.00.40 0° 40 140 115 25 80 160 145 30 100 27 80 130 60 50 100

DHC065.00.60 0° 60 190 115 25 80 160 180 40 125 22 105 130 70 55 110

DHC065.05.45 5° 45 150,55 112,10 12,5 100 160 145 30 100 25 80 120 60 50 100

DHC065.05.70 5° 70 195,38 123,17 25 100 170 180 40 125 25 65 120 60 50 100

DHC065.10.45 10° 45 154,95 108,76 20 100 160 145 30 100 25 79 120 60 50 100

DHC065.10.70 10° 70 199,27 110,94 25 100 170 180 40 125 25 65 120 60 50 100

DHC065.15.45 15° 45 158,18 105,09 25 100 170 145 30 100 25 80 120 60 50 100

DHC065.15.70 15° 70 201,64 103,44 40 100 170 180 40 125 25 65 120 70 55 110

DHC065.20.45 20° 45 160,20 101,19 30 100 170 145 30 100 25 80 120 60 50 100

DHC065.20.70 20° 70 202,48 95,79 40 100 170 180 40 125 25 65 120 70 55 110

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC065 00 60 K

S
Ef

Fs

WEBWEB WEB

With Key - OPTION K

C14.25.2538120
Seite 88, page 88, pagina 88

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC065.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC065
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC065


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

937

Ca
m

 U
ni

ts
 D

H
C

DHC065

Ss

0.02÷0.04*

  E
  

  C
  

  D
  

  B
  

  A  

  3
8 

 
  1

2 
 

  SEAT 25 H7  

  1
05

  

  1
30

  

  F  

  G    H  

  1
05

 

11 (4x)  

  J    K ±0,05  

10 H7 (2x)  

  20  
  M  

  1
05

  ±0
,0

2

  N ±0,05  

  O  

  1
05

  

  1
30

  

10 H7 (2x)  

  8
0 

 

  12,5  

  1
20

  

  65  
  7

0 
 

  L
  

  I  
±0

,0
2

11 (4x)  11 (2x)  

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*

C14.25.2538120**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Spring
Stroke
(mm)

β α S Ps Ss

0° 45° 40 40 40

0° 45° 60 60 60

5° 60° 45 67,94 45

5° 60° 70 105,69 70

10° 60° 45 60,63 45

10° 60° 70 94,31 70

15° 60° 45 55,11 45

15° 60° 70 85,73 70

20° 60° 45 50,87 45

20° 60° 70 79,14 70

INDEX

CAM DIAGRAM

  

  

 

 

  
   

   
 

  

P
re
ss

S
tr
o
ke

Spring Stroke / S

X VIEW

X

WEB

15

JI

L

M

O

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC065.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

938

DHC065

9

6 8

2

10

11

4

3

7

1

5

13

14

15
OPTION K

12

INDEX



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

939

Ca
m

 U
ni

ts
 D

H
C

DHC065

INDEX

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 1

7 Wear Plate CK45 1

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Spring Guide Pin CK45 2

11 Spring - 2

12 Key (C14.25.2538120)  - OPTION K CK45 1

13 Cam Base Fixing Screws M10x50 DIN 912 - 4

14 Cam Driver Fixing Screws M10x40 DIN 912 - 4

15 Key Fixing Screws M10x40 DIN 912 - 2

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

  1  

  0.01÷0.03  

  0.005÷0.015  Cam Base

Side Plate

Cam Slider

Cam Driver

Positive Return

Wear Plate

Wear Plate



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

940

DHC100

INDEX

S
Ef

Fs

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force
with shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Gas Spring

DHC100.00.40 0° 40 75 4,6

DHC100.00.60 0° 60 75 5,9

DHC100.00.80 0° 80 75 6,8

DHC100.05.45 5° 45 82 4,6

DHC100.05.70 5° 70 82 6,1

DHC100.10.45 10° 45 82 4,6

DHC100.10.70 10° 70 82 6,1

DHC100.15.45 15° 45 82 4,6

DHC100.15.70 15° 70 82 6,1

DHC100.20.45 20° 45 82 4,6

DHC100.20.70 20° 70 82 6,1

OMCR CODE
Work 
Angle

Stroke
(mm)

Overall Dimensions
(mm)

β S A B C D E F G H I J K L M N O P

DHC100.00.40 0° 40 190 150 30 90 190 45 130 140 16 28 105 170 80 60 120 100

DHC100.00.60 0° 60 210 150 30 90 190 45 130 140 16 28 105 170 100 70 140 100

DHC100.00.80 0° 80 250 150 10 115 220 45 160 140 15 27 135 165 110 75 150 100

DHC100.05.45 5° 45 172,22 145,28 27,5 115 160 40 105 140 15 27 90 165 60 50 100 90

DHC100.05.70 5° 70 207,08 147,23 30 115 190 45 130 150 15 27 70 165 80 60 120 90

DHC100.10.45 10° 45 178,12 134,98 30 115 160 40 105 140 15 27 90 165 60 50 100 90

DHC100.10.70 10° 70 212,59 133,90 30 115 190 45 130 150 15 27 70 165 80 60 120 90

DHC100.15.45 15° 45 182,67 129,23 32,5 115 160 40 105 140 15 27 90 165 70 55 110 90

DHC100.15.70 15° 70 216,48 130,17 35 115 190 45 130 150 15 27 70 165 90 65 130 90

DHC100.20.45 20° 45 185,83 118,14 35 115 160 40 105 140 15 27 90 165 70 55 110 90

DHC100.20.70 20° 70 218,72 121,17 45 115 190 45 130 150 15 27 70 165 90 65 130 90

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC100 00 60 K

WEBWEB WEB

C14.25.3248150
Seite 88, page 88, pagina 88

With Key - OPTION K

P.682

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC100.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC100
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC100


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

941

Ca
m

 U
ni

ts
 D

H
C

DHC100

C14.25.3248150**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

  B
  

  A  

  D
  

  C
  

  2
00

  

  SEAT 32 H7  

  4
8 

 

  L
  

  H
  

  G    F  

  E  

  1
75

  

  1
50

  

  K ±0,05  

  I  

  J  

14 (4x)  

12 H7 (2x)  

  20    M  

  1
40

  

  1
40

  

  1
65

  

  N ±0,05  

  O  

12 H7 (2x)  

  16  

14 (4x)  

  9
0 

 

  1
50

  

13 (2x)  

  P
  

  100  

  1
5 

 

±0
,0

2

±0
,0

2
±0

,0
2

0.02÷0.04*

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*

WEB

INDEX

CAM DIAGRAM

  

  

 

 

  
   

   
 

  

P
re
ss

S
tr
o
ke X

X VIEW

Gas Spring Stroke / S

Gss

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Gas 
Spring
Stroke
(mm)

β α S Ps Gss

0° 45° 40 40 40

0° 45° 60 60 60

0° 45° 80 80 80

5° 60° 45 67,94 45

5° 60° 70 105,69 70

10° 60° 45 60,63 45

10° 60° 70 94,31 70

15° 60° 45 55,11 45

15° 60° 70 85,73 70

20° 60° 45 50,87 45

20° 60° 70 79,14 70

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC100.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

942

DHC100

INDEX

Only nr.1 positive return for DHC100.00.
DHC100.00 mit nur einer Zwangsrückholung.
Solo un gancio di sicurezza per le DHC100.00.

**

9

8

1

4

3 12

13

10

2

6

7

5

14
OPTION K

11

**



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

943

Ca
m

 U
ni

ts
 D

H
C

DHC100

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

INDEX

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 1

7 Wear Plate CK45 1

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Gas Spring - 2

11 Key (C14.25.3248150)  - OPTION K CK45 1

12 Cam Base Fixing Screws M12x60 DIN 912 - 4

13 Cam Driver Fixing Screws M12x45 DIN 912 - 4

14 Key Fixing Screws M12x40 DIN 912 - 2

  1  

  0.01÷0.03  

  0.005÷0.015  

Cam Base

Side Plate

Cam Driver

Positive Return

Wear Plate

Wear Plate

Cam Slider



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

944
INDEX

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force

with 
shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Gas Spring

DHC150.00.40 0° 40 120 5,7

DHC150.00.60 0° 60 127 5,9

DHC150.05.45 5° 45 127 4,6

DHC150.05.70 5° 70 127 6,6

DHC150.10.45 10° 45 127 4,6

DHC150.10.70 10° 70 127 6,6

DHC150.15.45 15° 45 127 4,6

DHC150.15.70 15° 70 127 6,6

DHC150.20.45 20° 45 127 4,6

DHC150.20.70 20° 70 127 6,6

DHC150

OMCR CODE
Work 
Angle

Stroke
(mm)

Overall Dimensions
(mm)

β S A B C D E F G H I J K L M

DHC150.00.40 0° 40 190 170 45 100 220 190 125 35 105 250 80 60 120

DHC150.00.60 0° 60 210 170 45 100 220 200 135 35 110 250 100 70 140

DHC150.05.45 5° 45 193,01 158,50 30 125 220 190 125 36 105 240 70 55 110

DHC150.05.70 5° 70 217,92 166,32 40 125 220 200 135 36 120 240 90 65 130

DHC150.10.45 10° 45 199,55 151,36 40 125 220 190 125 36 105 240 70 55 110

DHC150.10.70 10° 70 224,17 152,02 40 125 220 200 135 36 120 240 90 65 130

DHC150.15.45 15° 45 204,58 143,71 40 125 220 190 125 36 105 240 80 60 120

DHC150.15.70 15° 70 228,73 152,24 55 125 230 200 135 36 120 240 100 70 140

DHC150.20.45 20° 45 208,05 135,70 40 125 220 190 125 36 105 240 80 60 120

DHC150.20.70 20° 70 231,54 137,15 55 125 230 200 135 36 120 240 100 70 140

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC150 00 60 K

WEBWEB WEB

S
Ef

Fs

C14.25.3248210
Seite 88, page 88, pagina 88

With Key - OPTION K

P.682

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC150.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC150
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC150


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

945

Ca
m

 U
ni

ts
 D

H
C

INDEX

  16  

C14.25.3248210**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

  A  

  B
  

  E
  

  D
  

  C
  

  4
8 

 
  1

5 
 

  F  

  2
20

  

  2
60

  

  2
10

 ±
0,

02
  

  K
  

  H  

  I    J  
16 H7 (2x)  

  G    45  

18 (4x)  

  N  

  2
30

  

  2
00

  

  L  
  20  

  M  

  2
00

  

18 (4x)  

16 H7 (2x)  

  1
30

  

  2
10

  

  1
00

  

  150  

±0,05

±0,05

±0
,0

2

0.02÷0.04*

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*  SEAT 32 H7  

13,5 (2x)  

DHC150

CAM DIAGRAM

  

  

 

P
re
ss

S
tr
o
ke

X

X VIEW

Gas Spring Stroke / S

Gss

WEB

20

H

M

L

K

J

I

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Gas 
Spring
Stroke
(mm)

β α S Ps Gss

0° 45° 40 40 40

0° 45° 60 60 60

5° 60° 45 67,94 45

5° 60° 70 105,69 70

10° 60° 45 60,63 45

10° 60° 70 94,31 70

15° 60° 45 55,11 45

15° 60° 70 85,73 70

20° 60° 45 50,87 45

20° 60° 70 79,14 70

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC150.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

946

DHC150

INDEX

OPTION K15 12

10

6

9

8

1

2

7

5

3

4

11

13

14

**

Only nr.1 positive return for DHC150.00.
DHC150.00 mit nur einer Zwangsrückholung.
Solo un gancio di sicurezza per le DHC150.00.

**



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

947

Ca
m

 U
ni

ts
 D

H
C

DHC150

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 2

7 Wear Plate CK45 1

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Wear Plate CuZn25Al5 + Graphite - HB > 190 2

11 Gas Spring - 2

12 Key (C14.25.3248210)  - OPTION K CK45 1

13 Cam Base Fixing Screws M16x80 DIN 912 - 4

14 Cam Driver Fixing Screws M16x55 DIN 912 - 4

15 Key Fixing Screws M12x40 DIN 912 - 2

INDEX

  1  

  0.01÷0.03  

  0.005÷0.015  

Cam Base

Side Plate

Cam Driver

Positive Return

Cam Slider

Wear Plate
Wear Plate



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

948

DHC200

INDEX

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force
with shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Gas Spring

DHC200.00.40 0° 40 176 8,6

DHC200.00.60 0° 60 176 10,1

OMCR CODE
Work 
Angle

Stroke
(mm)

Overall Dimensions
(mm)

β S A B C D E F G

DHC200.00.40 0° 40 200 200 135 110 90 65 130

DHC200.00.60 0° 60 220 210 145 120 110 75 150

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC200 00 60 K

WEBWEB WEB

Fs

Ef

S

With Key - OPTION K

C14.25.3258260
Seite 88, page 88, pagina 88

P.682

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC200.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC200
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC200


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

949

Ca
m

 U
ni

ts
 D

H
C

DHC200

  5
8 

 
  2

40
  

  1
10

  
  4

0 
 

  A  

  1
80

  

  1
5 

 

  SEAT 32 H7  

  3
10

  
  2

70
  

  2
60

 ±
0,

02
  

  2
90

  

  20  

  36  
  45    C  

  D  
±0,05

  B  

18 (4x)

16 H7 (2x)

  G  

  E  

  F ±0,05  
  20  

  2
80

  

  2
50

  

26 (4x)  

16 H7 (2x)  

  2
50

  
±0

,0
2

  1
50

  

  2
60

  

  16  

13 (2x)  

  1
10

  
  200  

0.02÷0.04*

C14.25.3258260**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*

WEB

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Gas 
Spring
Stroke
(mm)

β α S Ps Gss

0° 45° 40 25 25

0° 45° 60 40 40

INDEX

CAM DIAGRAM

P
re
ss

S
tr
o
ke

Gas Spring Stroke / S
Gss

X VIEW

X

https://omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC200.pdf


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

950

DHC200

INDEX

11 10
8

2

9

1

4

12

7

6

5

3 14

15

OPTION K16 13



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

951

Ca
m

 U
ni

ts
 D

H
C

DHC200

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 2

7 Wear Plate CK45 2

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

11 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

12 Gas Spring - 3

13 Key (C14.25.3258260)  - OPTION K CK45 1

14 Cam Base Fixing Screws M16x80 DIN 912 - 4

15 Cam Driver Fixing Screws M16x60 DIN 912 - 4

16 Key Fixing Screws M12x40 DIN 912 - 2

Cam Base

Cam Driver

Positive Return

Side Plate

Cam Slider

Wear Plate
Wear Plate

  1  

  0.01÷0.03  

  0.005÷0.015  

INDEX



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

952

DHC250

OMCR CODE
Work 
Angle Stroke Overall Dimensions

(mm)

β S A B C D E F G

DHC250.00.40 0° 40 210 200 135 105 100 70 140

DHC250.00.60 0° 60 230 220 155 125 120 80 160

WEBWEB WEB

Fs

Ef

S

P.682

INDEX

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force
with shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Gas Spring

DHC250.00.40 0° 40 232 8,6

DHC250.00.60 0° 60 232 9,4

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC250 00 60 K

C14.25.3258310
Seite 88, page 88, pagina 88

With Key - OPTION K

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC250.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC250
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC250


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

953

Ca
m

 U
ni

ts
 D

H
C

DHC250

WEB

INDEX

X VIEW

X

CAM DIAGRAM

P
re
ss

S
tr
o
ke

Gas Spring Stroke / S
Gss

  1
20

  
  5

0 
 

  A  

  2
10

    2
70

  

  1
5 

 

  5
8 

 

  SEAT 32 H7  

  20  

  36    D ±0,05 

  B  

  

  3
20

  

  3
60

  

  3
10

 ±
0,

02
  

  3
40

  

  3
30

  

  3
00

  

  3
00

  
±0

,0
2

  20    E  

  F ±0,05  

  G  

  

  2
20

  

  16  

  3
10

  

  250    1
30

  

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*

16 H7 (2x)  

26 (4x)  

13 (2x)  

0.02÷0.04*

  C    45  

18 (4x)  

16 H7 (2X)  

C14.25.3258310**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Gas 
Spring
Stroke
(mm)

β α S Ps Gss

0° 45° 40 40 40

0° 45° 60 60 60

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC250.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

954

15

14

10 11 8 7

4

2

9

12

6

1

5

3

OPTION K16 13

INDEX

DHC250



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

955

Ca
m

 U
ni

ts
 D

H
C

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 2

7 Wear Plate CK45 2

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

11 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

12 Gas Spring - 3

13 Key (C14.25.3258310)  - OPTION K CK45 1

14 Cam Base Fixing Screws M16x90 DIN 912 - 4

15 Cam Driver Fixing Screws M16x60 DIN 912 - 4

16 Key Fixing Screws M12x50 DIN 912 - 3

Cam Base

Wear Plate

Cam Driver

Positive Return

Side Plate

Wear Plate

Cam Slider

  1  

  0.01÷0.03  

  0.005÷0.015  

INDEX

DHC250



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

956

DHC300

OMCR CODE
Work 
Angle Stroke Overall Dimensions

(mm)

β S A B C D E F G

DHC300.00.40 0° 40 210 200 135 105 100 70 140

DHC300.00.60 0° 60 230 220 155 125 120 80 160

WEBWEB WEB

Fs

Ef

S

P.682

INDEX

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force
with shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Gas Spring

DHC300.00.40 0° 40 272 8,6

DHC300.00.60 0° 60 272 9,4

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC300 00 60 K

C14.25.3258350
Seite 88, page 88, pagina 88

With Key - OPTION K

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC300.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC300
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC300


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

957

Ca
m

 U
ni

ts
 D

H
C

0.02÷0.04*

17,5 (4x)  

  2
70

  

  5
0 

 
  1

20
  

  A  

  2
10

  

  SEAT 32 H7    5
8 

 

  1
5 

 
  3

90
  

  3
60

 ±
0,

02
  

  3
70

  

  4
10

  

  C    45  

  36  

  20  

  B  

  D  
±0,05

  3
80

  

  3
50

  ±0
,0

2

  E  
  20  

  F ±0,05  

  G  

  26 (4x)  

  16 H7 (2x)  

  16  

  3
50

  

  2
50

  

  300  

  1
30

  

16 H7 (2X)  

13 (2x)  

C14.25.3258350**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*

DHC300

P
re
ss

S
tr
o
ke

Gas Spring Stroke / S
Gss

CAM DIAGRAM
WEB

INDEX

X VIEW

X

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Gas 
Spring
Stroke
(mm)

β α S Ps Gss

0° 45° 40 40 40

0° 45° 60 60 60

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC300.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

958

DHC300

10

8

7

6

5

4

1

9

2

12

3

11
15

14

OPTION K16 13

INDEX



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

959

Ca
m

 U
ni

ts
 D

H
C

DHC300

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate CK45 2

5 Stopper Plate CK45 1

6 Positive Return CK45 2

7 Wear Plate CK45 2

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

11 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

12 Gas Spring - 3

13 Key (C14.25.3258350)  - OPTION K CK45 1

14 Cam Base Fixing Screws M16x90 DIN 912 - 4

15 Cam Driver Fixing Screws M16x60 DIN 912 - 4

16 Key Fixing Screws M12x50 DIN 912 - 3

INDEX

  1  

  0.01÷0.03  

  0.005÷0.015  

Cam Base

Side Plate

Cam Slider

Wear Plate
Wear Plate

Positive Return

Cam Driver



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

960

DHC400

WEBWEB WEB P.682

INDEX

OMCR CODE
Work Angle Stroke

(mm)

Max
Work Force
with shoulder

(kN)

Extraction
Force
(kN)

Ef

β S Fs Gas Spring

DHC400.00.60 0° 60 480 25,2

ORDER Art. Work Angle = 0° Stroke = 60 OPTION K

DHC400 00 60 K

Fs

Ef
S

C14.25.3258350
Seite 88, page 88, pagina 88

With Key - OPTION K

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC400.pdf?1560940711
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDHC%2F%2FDHC400
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDHC%2F%2FDHC400


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

961

Ca
m

 U
ni

ts
 D

H
C

DHC400

0.02÷0.04*

C14.25.3258350**
Separat erhältlich
Sold also separately
Acquistabile separatamente

**

  1
95

  

  100  

  320  

  1
5 

 

  1
0 

 

  1
60

  

  2
50

  

  1
5 

 
  5

8 
 

  2
5 

   5
05

  
  20  

  36  
  70    210  

  280  
±0,05

  300  

  2
00

  
  3

00
 ±

0,
02

  

  4
85

  
  5

25
  

16 H7 (2x)  

22 (6X)  

  20  

16
  100  

  70 ±0,05  
  140  

  2
50

  

  3
30

  

  3
60

  

18 (4x)  13 (3x)  

16 H7 (2x)  

  3
30

   ±0
,0

2

35
0

  400    1
50

  

Spiel bei der Montage
Clearence at mounting
Gioco al montaggio

*
  SEAT 32 H7  

INDEX

X

X VIEW

CAM DIAGRAM

P
re
ss

S
tr
o
ke

Gas Spring Stroke / S
Gss

WEB

Work 
Angle

Inner 
Angle

Slider 
Work 
Stroke
(mm)

Press 
Stroke 
(mm)

Gas 
Spring
Stroke
(mm)

β α S Ps Gss

0° 45° 60 60 60

https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC400.pdf?1560940711
https://www.omcr.it/download/Informazioni%20tecniche/DHC/Technical_info_DHC400.pdf?1560940711


DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

962

DHC400

INDEX

10

15

17

12

16 11

8

6

9

2

7

1

4

5

3

13

14

OPTION K21 18

19

20



DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITÀ A CAMME A BASE STAMPO

963

Ca
m

 U
ni

ts
 D

H
C

DHC400

PART LIST

Particular number Description Material Quantity

1 Cam Slider GGG-45 + Graphite 1

2 Cam Driver GG-25 1

3 Cam Base GG-25 1

4 Side Plate GG-25 + Graphite 2

5 Stopper Plate CK45 1

6 Positive Return R CK45 1

7 Wear Plate CK45 2

8 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

9 Wear Plate CuZn25Al5 + Graphite - HB > 190 1

10 Wear Plate CuZn25Al5 + Graphite - HB > 190 2

11 Positive Return L CK45 1

12 Slide Plate GG-25 + Graphite 4

13 Spring Stopper CK45 2

14 Key CK45 1

15 Elastomer Cap Elastomer 92SH 3

16 Gas Spring Stopper Plate CK45 4

17 Gas Spring - 4

18 Key (C14.25.3258350)  - OPTION K CK45 1

19 Cam Base Fixing Screws M20x90 DIN 912 - 4

20 Cam Driver Fixing Screws M16x55 DIN 912 - 4

21 Key Fixing Screws M12x50 DIN 912 - 3

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

INDEX

  1  

  0.005÷0.015  

  0.01÷0.03  

Cam Slider

Cam Driver

Side Plate

Sliding Plate

Cam Base

Wear Plate

Wear Plate

Positive Return


	DHC - Die mounted cam unit
	TECHNICAL NOTES
	DHC052
	DHC065
	DHC100
	DHC150
	DHC200
	DHC250
	DHC300
	DHC400


